B N ERE

1. LEA4
TH4 RIS 3 B b HEE = D 4 T
THH4 R SR AR BE T A A SRt 5
2. TENE
1)  FHEIT4 BRE LRI LE#®
2) E I M R - M9 ST E
3) T i 910H H S0 THE 5H24H
ED) A 9FE11H19A
4)  TEHEEE

i@ Aokt 5w m



)

B N ERE

T4 | BR)IE 3 SWUERED 4 THE

THXSy « TfE - FER A B & & B # a1l ) 7
OB HE R = 1 164, 210, 892
s T Y 1 7,051, 399
PEHI T Y 1 5,013, 360 | A (FEBS) 2, 600 m3
TR 3, 000m3 AT [EEEAEE
R H] (FBBS) 2, 000 m3
U
HELL 2V 1 206,600 |HE L 1, 000 m3
fili[E D
BT = 1 236,964 | B+ (A ) 980 m3
4. 0mPA F
B T Y 1 96, 233 |YEMEIERE (U)LiH) 30 m2
BUGHOME 138 £ LR OWE + et
LT (8) 1356) 40 m2
BUGHIF 2 WosT
R HETY (i 1358) 50 m2
A E O BUGHOE
e T = 1 1,498, 242 |#&ki 1 =
=AM ToH
b 1 =
U
TN = 1 8,926, 080
AT 2V 1 64, 350 | fEAEY—} 50 m2
FEAEY-D T (BEHENL)  250m2A T
ERE T Y 1 4,096, 400 | RAFHE 76 m2
ErAnHH AL 2V 1 4,765,330 | ERFHAEA 245 m
v EiAEHND22 (SD345) 1=5.5m HIfLE 5.1m I
HIFLIC 25 5 B O A FTEE 200mPL |
5 (T7/-) 1 =
K= ey B Ek 1 =

-1 - ESR o3 E < o] 3 ok S




PR NERE

T4 | BR)IE 3 SWUERED 4 THE

THERXSy « LFE - fEmH A B & & # 1l &) 7
2y - MESE T Y 1 124,911, 861
LT 2V 1 1,977,186 |{AHEITEH (G)LHER) 20 m2
BIGHOME VS L WL OWE L+ e
AR 994 m2
2y - MESEARER T Y 1 36, 130,911 |av))-} 53 m3
18-5-80BB W/C=60% 10m3/H LA _F30m3/ H At
— A Aay)) - EIHEAAE
av)=h 726 m3
18-5-80BB W/C=60% 30m3/H LA _F80m3/ H Aiifi
— A Aay)) - EIHEAAE
av)=h 381 m3
18-5-80BB W/C=60% 80m3/ H LA _F140m3/ H Aifi
— A Aay)) - BRI
1EKHR 43 m
CC300X7 ;
R pke 1 ®
SRERR R
Rk 1 ®
Y 1 =
ERCAVE AN
a7 -bEIHESE T Y 1 44,391, 742 |av/))-} 215 m3
18-5-80BB W/C=60% 10m3/H LA _F30m3/ H At
— A Aay)) - EIHEAAE
avyy)=-h 1, 147 m3
18-5-80BB W/C=60% 30m3/H LA _F80m3/ H At
—MeFAE Aay)) - BRI
R pke 1 ®
SAERR R
Rk 1 ®
Y 1 =
Fry b7
27— MAlEE T =Y 1 23,309, 322 |2/))-} 325 m3
18-5-80BB W/C=60% 10m3/H LA F30m3/ H Aiifi

-2 - ESR o3 E < o] 3 ok S




THE4

LHEX Sy - L - fEjl

BRI 3 BRbHIEE = D 4 TR

HOAL

#

e

PR NERE

&

IR}
&

2

# pilll
— A Ay ) - MBI KR
av)y=p

2

18-5-80BB W/C=60% 30m3/H LA _F80m3/ H Aiifi
— A Aay)) - EIHEAAE
B HhR
AR B I t=20 ;
KN AT

VP ¢ 50 74Wi-F
W% U B IEAS

JSTE 300X 300X 20 ;
Tl P

= 8

SR |
T

Y

Yoy bys—7
6, 322, 180

EEEEMZA
(RHELR)

294 m3

44 m2

7

B

53

KNI

18-5-80BB W/C=60% 80m3/ A LA I-140m3/ A AR
— A Aav)) - VBRI
EiEEM 2R

(RIHESE)
18-5-80BB W/C=60% 30m3/H LA _F80m3/ H At
— A Aay)) - BRI
figsav )=}
(fRIEE)

A

18-5-80BB W/C=60% 30m3/ A LL -80m3/ A A7
— A Ay - VBRI
Tl

SR
12, 780, 520

e =4

5
ay))—=h

18-5-80BB W/C=60% 30m3/ A LL -80m3/ A A7
— A Ay - VBRI
av)y=p

m3

149 m3

37 m3

76

18-5—80BB W/C=60% 80m3/ A LL -140m3/ A Kwi

m3

370 m3

i@ Aokt 5w m



BN

%
I

T4 | BR)IE 3 SWUERED 4 THE

THEXSy - THE - Fl5 A B & & B # ] ) 7
— IR ARV ) - VR AR
T 1 K
TOBHHESE AT B ki T Y 38, 940
SRR R T v 38,940 |27y7" 11 PN
¢ 22 BA0cm S R Y |
R T Y 23, 282, 612
THEHERT = 73, 656 | FHLF 1 =
(—¥hE 1)
RC-40 t=100mm ;
jgidl 1 =
(Z¥%hiE 1)
RC-40 t=100mm ;
R & 1 = 13,793,245 |2V =p7)a=h 1 =
(—¥hE 1)
S 2V —RF7) 2—A B2306 X H2090 ;
T =p70 a=h 1 =
(Z¥%hiE 1)
s avr =IRF7) 2—A B2306 X H2090 ;
W =p7Y 2=k 1 =
(=% 1)
R -E avs -IRF7Y a—h B2306 X H2090 ;
W =p7Y 2=k 1 =
(DU 1)
RIE-E avs ~IRF7Y 2—h B2306 X H2090 ;
IR 1 =
(=% 1)
FRE MR VTP )7 E 61500
IR 1 =
(=% 1)
W WES VP77 & 61500 ;
+o5 1 =
(— i L)
-4 - = 22im Aokt 5Bl




)

Vo =
B AR NERE
T4 | BR)IE 3 SWUERED 4 THE

LHEX Sy - L - fEjl

LA #

e

&
‘\?é].[

il ] 2! i
R BRE MHEIERE L0 5 34
+o5

1 =
(Z¥%hiE 1)
s (BRI It RE Lo 5 34

+o5
(=% T)
R BB - R MR 00 5 34E
+o5
(=% T)

A - i (AL MR o 5 34¢
+o5

1 =

(DU i 1)
BRE-WE mHEMNERE o S 3ME

= 1,694,011 |Rpe¥&iE 1

(Z¥%hiE 1)

fHEMEL

R IE 1

(=% 1)

fHEMEL

R IE 1

(DU i 1)

fHEMEL

ERk)

(Z¥%hiE 1)

WE-BE - WE (BRI mHEE R Lo 5 34F

PESEY-1 H M T

+o5
(= T)

AXIE - 1S (BRI Mt R 0> 5 34F
+o5

(VYR HE T2)
x

1 =
FRE R MmHENE R 0 S 34
7,721,700 |7 VEYANE v)A

PNIE 3000m P& 2500m ;

it TR O T

i@ Aokt 5w m



A NERE
TH4 | BRI 3 BWpAERE D 4 TH
THXSy - TH - fly C A ¥ & & fH # bl N g
[ELRE Ty X 1 164, 210, 892
im R # v 1 15, 916, 400
B SIS = 1 3, 418, 400
FeAfriE By v 1 1,856,400 | BLALKEAERIC & 2B 84
BUGRESGER (R5th) v 1, 562, 000 R
ol # (RKE L) v 12, 498, 000
Wi TR = 180, 127, 292
B B v 47, 150, 000
TRl = 2217, 277, 292
—fRE R % v 34, 662, 708
T fifik& = 261, 940, 000
6 -

i@ Aokt 5w m




